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Answering questions in this booklet will help you be successful on the

OSSLT. Your teachers will lead you through these practice lessons in your
classes. If you miss a practice session, the lessons can also be completed

independently. When you have finished a task, compare your answer to the

scoring guide and exemplars provided.

¢ ®
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f /1é Good Luck from the Literacy Team!
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Sample Assessment Booklet: New Layout
Booklet 1

Ontario Secondary School Literacy Test (OSSLT) 2015

Attempt 2l guestions. If vou lesve 3 question blank
the question will be scored zero.

Uz only pencil or bine or black pen

Answering Multiple-Choice Questions
Chopse the hest or most correct snswer for each qoestion

To mdicsts vour answer, fill m the arde completely, 2=
shown helom:

Licti: @ luieos® @ @ ©

I vou fill in more than one circle fiwr 2 qoestion the goestion
will be scomed incorect

. ) Provide ALL
To chanees 2 rmitiple-CholCe SnTWer, SrEss OF 0SS (NI VON
aower End 8l in the drcle fir vour new answer. Ensmme: your answers to
that vour finsl snewer i clear I'IMHI_I
open-response questions
Answering Open-Response Questions in this booldet.
Fr the mriting sections pav smemtion to clariny, Spaca is available for
The lined space in this hookist indicates the spproximens
lensth of the responss expeciad

FOA —
You are now ready to start the test.
E@AO
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section () Reading

Read the questions in Question Bookle! 1 before providing your answers here.

&
L 2]

An Animator from ‘
Scarborough

Mutiple-Choice

HBOOOO
BOOOO
BOOOO
BOOOO
BOOOO

Open-Response Answer

B Why is Lizarda a good choice for this internship? Use specific details from the selection to explain
VOUI anSwer

3|Page



| ANSWERS

An Animator from "
Scarborough

Multiple-Choice

 NoJYol Yo
BO@OOO
BHO0OO
BOO@®O
BO@OO

Open-Response Answer

B Why is Lizarda a good choice for this internship? Use specific details from the selection to explain
VOUI answer
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EQAO OSSLT April 2013

36 VWhy = Lizands 5 good choice for this imbemship? Use specific detsils from the selecion to explsin your snswer

Code Descriptor
Blank nothing writien or drawn in the ined space provided
liegibi=" » response is illegible

An illegible response cannot be read (eresed, crossed out. not in English, impossible fo read).
A comment on the tesk (eg. | don't know).

Offtopic | « response is off-topic, imelevant or incomect
A typical off-topic response has no conneclion o the seleciion or fhe quesiion.

A typicsal imelevant response comments on the topic (e.g.. an infemship is & good way to lkeam) or
only resisies the question (e.g.. Lizends is a good choice for the inlemship) with no support.

A typical incomect response provides an enswer based on & misunderstanding of the question
ANINOR the ideas in the salection

Code 10 » response indicates minimal reading comprehension
* response provides minimal or imelevant ideas and information from the reading

The response prowvides
OR
« @ resson from the studenfs own ideas with no supporfing detsils from the sedecion

Code 20 = response indicates some reading comprehension
= response provides vague ideas and information from the reading selection; it may
include imelevant ideas and information from the reading selection

The responss prowides
* @ resson from the selection supporied by Bmited or vague detsils
OR
» deisis from the selechon thet are niended fo support & resson for e choice of Lizands
for the intemship ss an animator. However, the resder is reguired fo meke the
connechion between the reason and the: infemship or the work of an animator.

Code 30 * response indicates considerable reading comprehension
* response provides accurate, specific and relevant ideas and information from the
reading selection

The response provides supporting detsils from fhe selection and a dear explansation of how
these detzils are connecied fo the seleciion of Lizsrda for the intfemship as an animator.

*Responses consisersd to be illegible or off fopicincomect must be showm o the Scoring Supervisor.
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EXEMPLARS

EQAOQ OSSLT April 2013

Scoring Guide for Reading Open-Response
Section | News Report Question 6

Code 10

@6 Why = Lizands s good choice for this inlemship? Use specific details from the seleciion fo explain your snswer.

The response provides minimal information from the seleclion (slarfed drawing carfoons when he was a
child and gof more info & when he was in grade 10) and does not offer an explanation of how these details
are connecied fo the choice of Lizarda for the intemnship as an animator.

EQAO OSSLT April 2013

Scoring Guide for Reading Open Response
Section | News Report Question 6

Code 30

Q6: Why is Lizarda = good choice for this mtemship? Use specific detsils from the selection to explain your answer.

provides specific
wmdmmmmmmdMMM)m
how they are connected to his infemship as an animator (/% is the job of an animator o be able fo apply
the principles of animation but catch the viewers’ affention).




section () writing

Read the questions in Question Bookle! 1 before providing your answers here.

Multiple-Choice
BOOCOO
BOOOO
BOOOO
BOOOO
BOOGOO

Uise the space below for rough noles. Nothing you write in this space will be scored.
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ANSWFERS

- oo Yo
B@COO
HOQOO
BOOCOO
BO@OO

Lise the space bedow for rough notes. Nothing you write in this space will be scored.
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Short Writing Task Practice

Activity 1 - Writing Task: What do I have to do?

Short Writing Task (Answer in full and correctly written sentences.)

What is the best advice you have ever given to someone? Use specific details to explain your answer.
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section () writing

-
Short Writing Task

B Identify an important environmental issue. Use specific details to explam why it is Important.

Usa the space below for rough noles. Nothing you write in this space will be scored.
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EQADO OSSLT April 2013
Scoring Guide for Short Writing Topic Development

Section Il Environmental Issue

Wiriting Prompt: kdentfy an imporient environments] issue. Use specilfic detsils fo explsin why i i important.
Code Description
Blank + nothing written or drawn in the lined space provided

[Bemibde” « response is illegible

#An illegible response cannot be read (eresed, crossed out. not in English, impossible io
resd)

The response commernts on the tack (e.g . | don't know. ).
O topic™ = rmesponse is off-topic or imelevant to the prompt
A typical off-fopic response is nof related to fhe fopic of an emdonmentsl issue.

A typical imelevant response commenis on the fopic or simply resisies the guestion.

Code 10 = response is not developed or is developed with imelevant ideas and information
The response
=« identifies or desoribes an emdronmentsl ssue bl does nof provide an explanation
of why it 5 important
OR
» dentfies or descrbes an emarcnmentsl ssus but provides an melevant
explansiion of why it is important (e.g.. how issue can be sobved))
OR
& prowides s genersl comment shout fhe emdronment.
Code 20 « response is developed with vague ideas and information; it may contain some

The response idenfifies or desoribes an environmentsl issue and provides 3 vague
explansiion of wiy it is imporiant or wses veque detalls in the explanaion

The response ofien reguires the resder fo make the connecion between the support
provided and what i 5 intended o prove.

Code 30 * response is developed with clear, specific and relevant ideas and information

The responss idenfiies or describes an environmentsl issue snd provides specific and
relevent detells to clearly explsn why & is imporiant.

“Responses conssdersd to be illegible or off fopic must be shown to fhe Scoring Supenisor.
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EXEMPLARS

EQAO OSSLT April 2013

Scoring Guide for smnwmmg Topcheveloplm

on il Environmental

Code 10

H 1éeonfy an important enviroamental issue. Use specific details to explain why it is important.

o/t 19 dne  Omoot o6 S0ergM iwosted Throughoice tne
Aoy, thece ore OOutoviu, io8edad  hghds oo, Od  coopucen
Fir M e Me Yol ‘oecame more onvroamestoly  foeaaly

Accc  che ladt Cape  adycas uiite peqie o o

Annotation:
The response identifies and describes an environmental issue (amount of encrgy wasted) but does not
provide an explanation of why it is imporiant.

EQAO OSSLT April 2013

Scoring Guide for Short Writing Topic Development
Section il Environmental Issue

Code 30

B 1dentify an important coviroamental issee. Use specific details 1o explain why it is important.

Annotation:

The response idenfifies an environmental issue (the confaminsation of wafer] and provides a clear
deisnmi(%nemewemmmmemmm
have a limited supply) using relevant and specific details (you can die in 34 days. Only 1% of the earth’s
water is fresh water).
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section {3 Writing a News Report

Read the question in Question Bookilet 1 before providing your answer here.

i ™

| Students Participate in Important Election

13| Page



EQAO OSSLT April 2013
Scoring Guide for Long Writing Topic Development

Section [V News Report

Descriptor

The page is blank with nothing written or drawm in the space provided.

The response is illegible or imelevant to the prompl.

The response is off topic.

10

The response is relaied to headliine and/or photo but iz not 2 news repori
OR

The response is a news report relaied to the headline andfor photo. I

ideniifes an event, bui provides no supporiing details, or provides details that
are unrelated to the event. There is no evidence of onganization.

The response is relaied to headiine and/or photo but only parify in the form of
a news report.

OR

The response is a news report relaied to the headline andor photo, but the

focus on an event iz unclear or inconsistent. There are insufficient supporiing
details: too few or repediious. There is imited evidence of organization.

The response is a news repaort relaied to the headline and photo with a clear
focus on an event. There are insufficient and/or vague supporiing details or
the conneciion of the details to the event is not always cear. There is

evidence of onganization, but lapses disiract from the overall communication.

The response is a news report relaied to the headline and pholo with a clear
and consisient focus on an event. There are sufficient supporiing details,
however, only some are specific. The organization i mechanical and any
lapses do not disiract from the overall communication.

5§

The response is a news report related to the headline and pholo with a clear
and consistent focus on an event. There are sufficient specific supporing

details to develop the news report. The organizalion is logical.

2§

The response is a news report relaied to the headline and pholo with a clear
and consistent focus on an event. There are sufficient specific supporing
details, which are thoughifully chosen to develop the news repori. The
onganization is coherent demonsirating a thoughtiul progression of ideas.
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EXEMPLARS

EQAO OSSLT April 2013

Scoring Guide for Long Writing Topic Development

Code 20

o Pt (e toreona)
E:* :;u,g ;_ru.t-hi\t
E :-"H !IE - Ibiﬁ m\}
u::wv}m Juti:q Mot ex=ct tivne Yhe vee\

elehien yres hn.m!n:\-ﬂ!_

R L e B B P

———

Annotation:
The response is a news repor related to the headline andfor photo. H describes an event (sei up & voling
booih) but includes insufficient supporting details. There is imited evidence of organization.
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Code 40
_&Wjj 7018
Mbh_m
o cast e vobes an deciding
e will becare i caur =choal

- A O Ll -

o ‘-_ U AT e o AN e - Al

T .

Annotation:

There i= a clear and consisient focus on an event (casf fheir voles an deciding who will become their new
school president). There are sufficent supporiing details. Some are specific | Thursday, April 3. 2003 two
grade 12 studeris (Sludent’s first and lest name and siudent’s first and last name); benilicial dance).
Other detailz are vague (st school year, do great things, held no mercy for one another, take the school
year by storm)_ The omganization is mechanical. The concluding reference o the piciure (a5 yow see in the
piciure sfodenis wailing in ins. . ) i a lapse in erganization, but it does not disiract from the overall
commumcation.
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EQAO OSSLT April 2013

Scoring Guide for Long Writing Topic Development
Section IV News Report

Code 60

Students Participate In important Election
_Apes dors TORoWTO STAR s

ol P

j ha

—polis v Y@ r@m) gleghions \Y Chrnaor be Jenled Thow vweee,
—resulhs will Beask e WDES onfidence. tnd CAmpuignine
T =

_..__:amnair*\u-_nl - —

Annotation:

There i= a clear and consistent focus on an event (sfudeniz. . fook part in & very important Provincial

are thowghifully chosen to develop a clear and consisient focus. Relevant quotations are deliberately
placed o develop the reasons for the mock eleclion (see who they balieve wall make changes in Omlano
for the bedier, because they are a younger parfy and their values appeal fo me). Dmyanization is coherent.
The responze demaonsirates a thoughtful progression of ideas from facis about the election, to purpose, to
resulis and to fulure implications. The effective use of fransition words or phrases (Despie fhe__ As.
Wih the._.) provide coherence.
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section () Reading

Read the questions in Question Booklel 1 before providing your answers here.

BOCOOO
BHOOOO
BOCOOO
BOOOO
BOCOOO
HOOOO

Open-Response Answer

B Stste a main ides of this selection and provide one specific detzil from the selection that supports it
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| ANSWERS

moo®o
HOOOO
BEO@OCO
mO@coo
BO@OO
Boo®O

Open-Response Answer

Bl State a main ides of this selection and provide one specific detail from the selection that supports it
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EQAO OSSLT April 2013

Scoring Guide for Reading Open Response
Section V Information Paragraph Question 7

QT- Stete 8 mein ides of this selecion and provide one specific detsi from fhe selection thet supports it

Code Descriptor
Biank nothing written or drassn in the lined space provided

lBegitle™ | » response is illegible
An Blegible response cannot be read (eresed. crossed out. not in English, impossible io read).
The responss comments on the teck (eg.. | don't know how fo answer this ).

O fopic” | » responise is off-topic, imelevant or incomect
A typicsl ofi-fopic response has no connection fo the selecion or the gueshon.

A typicsl ncomect response provides en answer based on & misunderstsnding of the guesfion
ANDVOR the idess in the salechon

Code 10 | = response indicates minimal reading comprehension
= response provides minimal or imelevant ideas and information from the reading selection

The responss provides

* only & mein ides from the seleciion

OR

*  only one or more detsils from the selechon without 3 main ides
OR

* &5 main ides with cne or more imelevant defsils from the selecion.

Code 20 | = response indicates some reading

comprehension
= response provides vague ideas and information from the reading selection; it may
include irmelevant ideas and information from the reading selection

The responss provides
® 3 comect main des and one or more vegue details from fhe selection to support it
OR

* 3 wague main ides and one of mone specific or vague detsils from the seleciion fo support it

The responss ofien reguires the resder fo maks fre connecion behwesn the main ides and
supporiing defsil{s].

Copde 30 | = response indicates considerable reading comprehension
= response provides accurate, specific and relevant ideas and information from the reading
selection

The responss provides 5 comect mein ides and one or more specific snd refevant detsils from the
selechion to support i cearly.

* Responses consigersd fo be legible or Off topic/incomect muest be shown fo the Sconng Supendsorn.
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EXEMPLARS

EQAO OSSLT April 2013

Scoring Guide for Reading Open Response
Section V Information Paragraph Question 7

Code 10

QT Stste & main ides of this selection and provide one specific detsil from the seleciion that supporis it

T pan 1ded of this  sélechen 15 to provide
intoandhon on ;ﬁﬂ,},} and Currend Occurdrncd ] H‘F}’
the Aetic. Hu Example would be a;
ollows$, “Pola- Bear suruwel in tht wild aaay
be in dﬂnjfr hecave of clmadr c‘h&/g?}“

Annotation:
This response provides only a main adea ("Polar bear sunvival in the wild may be in danger because of
climale change).

21| Page
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Section V Information Paragraph Question 7

Code 30

QT Stsfe 8 main idea of this selecion and provide one specific detsil from fhe selection that suppors it

This response provides a comect main idea (climafe changs is endangering polar bear survival in the wild)
supported by specific and relevant details from the seleclion (climafe change is lengthening the ice fres
period.. polar bears are siranded on kand and away from their normal dief of seal meal_ . resulfing in less
fat build-up for the winder]. The conneclion between cimate change and the threat to polar bear survival is
clear.




Section () Writing a Series of Paragraphs

Read the question in Question Bookiet 2 before providing your answer hars.

. T
H Is it a good idea for high school students to have a part-time job?

\_
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a Series of Paragraphs
Section (&) Writing

23| Page



Code Descriptor
Blamk The pages are blank with nothing written or drawn in the space provided.
Illegible | The response is illegible, or irrelevant to the prompt.
Off topic | The response 15 off topic.
The response 15 related to the prompt but does not express an opinion,
Code 10 OR
The response expresses an opinion with no supporting details or provides details
unrelated to the opinion. There is no evidence of organization.
The response is related to the prompt, but only part of the response expresses and
supports &n opinion,
Code20 | OR
The response is related to the prompt, and expresses and supports an opinion, but the
opinion is unclear or inconsistent. There are insufficient supporting details: too few or
repetitious, There is limited evidence of organization.
The response 15 related fo the prompt and cxpresses a clear opinion. There are
Code 30 insufficient and/or vague supporting details or the connection of the defails to the
T opinion is not always clear, There i3 evidence of organization, but lapses distract from
the overall communication,
Code 40 The response is related to the prompt. A clear and consistent opinion is developed
e with sufficient supporting details, however only some are specific. The organization
is mechanical and any lapses do not distract from the overall communication.
Code 50 The response is related to the prompt. A clear and consistent opinion is developed
¢ with sufficient specific supporting details. The organization is logical,
Code 60 The response is related (o the assigned prompt. A clear and consistent opinion is

developed with sufficient specific supporting details that are thoughtfully chosen. The
organization 15 coherent demonstrating a thoughtful progression of ideas.

I think this exemplar is a Code .

I think this because:

To improve this draft the writer could:
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Series of Paragraphs Supporting an Opinion — EXEMPLARS

Code
30

Is it a good idea for high scheol students 1o have a part-time jobh?

‘T- S EC}\ \olen '%r Luh &Lﬂai -5+L1CIEH+5
to haw par ~twe nc-b chnhg CEPINEW |
Qiyp :xhhﬂt#ﬁ!’r mr*'l-m £ TI".EMLWJH kﬂaw
o] I Wk Wcrfk?:. ano'x uther' E'I‘::nof IKGW ﬂ‘a Mo hege

Q!'oh as ?;p.r n‘? ’H-.afr S::ingglu\ﬂ.
S malﬁﬂi% wauld also %uin "E’_jﬁrﬁﬁﬁf_ﬂ?-

Oulu‘m !.n'i: W\"nﬂ«bﬁ ‘l'l‘f-ucmﬁ'lcl u-::}u""f‘ o] AL T ESUWE
hheﬁ Qigp]m rg ‘F:::-r‘ e 1 d—'ﬁ'lh fT"w.u wou‘lal! CILSG

: ﬂmgz_s_ﬁ‘ig) wguim&ﬂafw
d“b"
C‘*'l'molzj“_’*‘d_ would %E:F froneu Sor wworkn &

W.I’hcf]’\ ‘H*qu E‘c}mlld cu‘\ai
ther

+a C:l E-P ?QS {h 5ﬁ§,&|ﬁj€t gm. e u-!"-&'jh‘an
) E|L :m'! d eonablk ‘F’H-em to cxe !I~ L;.e..HEr*
Mero

Ed Ll-!‘_EI'I‘Tm "

The response is related to the prompt and expresses a clear opinion. There are insufficient and
vague supporting details (... more experience so they would excell at that job). There is
evidence of organization but lapses occur when ideas are introduced in the first paragraph
(how having a job works.._manage a job_..) and are not developed.
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Series of Paragraphs Supporting an Opinion — Sample Answers

Code
60

It it a good idea for high schoel students to have a part-time joh?

o pay, a poark-time job s aw ideal resource.

~Blong witn the material idems You recizve £rom money,

50 be) Self— = wikhich s o ‘Iﬁ.-l'.th‘Ehv fﬂﬂ

Clg 1'1'58, Hmuimg our atun 10b hglpg e Yo el and 2 xpe ence
rraburcty sl leaern valiable [escons dIDHS Pho Lious. i+

e howve 0 committmentto Keep F v don'd juont to Jot ourseles
aaad DuC_emplovers down . LALWLLE:‘I"_ﬁ}ﬂ.EpL‘ECI.LE_'Jiﬂ_aJ_Lr_LLLD_ﬂL;,
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.‘:' g o s - in
we would need our ['Kee This aspect rot only teadus responcibiliy

fey AN N

Fiog Wy aposy From o Fiscol wiewpoink) ireare reofving

alable work ﬂWﬁMﬂL&MﬂE.._Fﬁ on.aresumey

Mauny Leenagers Yodos con definately benefit Frow the.
gﬁﬁ.ﬁﬁ {£ m'lﬁhq lek.%] Pl Ealw ) |EE:‘: -] [jjlﬁ'}'_' #ﬂ 'Fﬂﬁ |LE I‘[ [EJEH; &'J'_"

fovre T Feel He PDE-H-]'VE.E Hoey cln recieve [yom - ave inFinide,

L also feol mare feens skmuld soonbeginde consicle o this aa

i medic @ e |

i Heoir Fovuce hopes .

A clear and consistent opinion is developed with sufficient specific supporting details that are
thoughtfully chosen (movie, out to dinner with a friend, certain type of clothing, a more
expensive brand). The organization is coherent, demonstrating a thoughtful progression of
ideas in each paragraph and in written work as a whole, with each paragraph building on the

preceding one.
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section ({J) Reading

Read the questions in Question Bookiaf 2 bafore providing your answers here.

A Stunning
Comeback to an
Elite Sport

BOOOO
BOOOO
BOOOO
BOOOO
BOOOO
BOOOO
BOOOO
BOOOO
BOOOO
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| ANSWERS

A Stunning
Comeback to an
Elite Sport

Multiple-Choice

H@C0O0
HOOCO@
BO@OOO
B@OOO
- ¥ YeleXe
H@OOO
HOOCOC®
BOOO@
BO@OO
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section () Reading

Read the questions in Question Booklet 2 before providing your answers here.

Multiple-Choice

BOOOCO
BHOOOO
BOOOO
BOOOO
BOOOO

Open-Response Answers

Does Gerry believe that Hanna’s suggestions will help him? Use specific details from the selection to
Support your answer.
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section () Reading

-~

B What does this selection show about Gerry and Hanna's relafionship? Use specific detzils from the

selechion to explain your answer.

Lisa the space balow for rough notes. Nothing you write in this space will b scorad.
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| ANSWFEFRS

Multiple-Choice

X JeJeXe
BOO@O
BO@OCO
BOCOO
BOO@O

Open-Response Answers

B Dos: Garry believe that Hanna"s suzgestions will help him? Use specific details from the selection to
support YOur answer.

32| Page



6. Does Gemry befieve that Hanns'z suggesSons will help him? Use specific defailz from the ssdection fo support your

Descriptonr

nothing written or drawn in the lined space provided

response is illegible

An illegible rezponse cannot be read (erssed  crossed ool nof in Bnglish, impozsible fo resd).

A comment on the fask (eg | don’t know ).

response is off-topic, imedevant or incomect

A typical off-iopic response provides N informabion from the reading sefection fo indica’e reading
cormprehenSion

A typical imelevant responze commenis on the resding selection e g, | dont undersiand the sfory) or
=imply resisfes the guesion.

A typical incomect responze provides an SnEwer
* bgzed on & mizundersianding of the guezSion ANIVOR the ideas in the resding s=feciion

Code 10

response indicates minimal reading comprehension
response provides minimal or irelevant ideas and information from the reading
sefection

The responzse indicales whether Gemy befieves that Hanna's suggesions will help him and provides:
oRr

one or more of Hanna's suggesions with NO evidence fom the seleciion az fo whelher Gemy believes
or

imedevant support from the resding selechion (e, 3 refel of eveniz in the zefeciion andior 5 mix-up in
charsciers].

response indicates some reading comprehension

response provides vague ideas and information from the reading selecfion; it

may include imelevant ideas and information from the reading selecion

The regponze indicsies whelher Gemy befieves thaf Hanna's suggesions will help him and provides:
veque support from the sslection fo expisin why:

The regponze offen requires the resder o make fhe conneciion befwesn fhe informsiion and idess
provided from the scdection and what theze oefails are ended io prove (that Gerry befievez Hanna'z

response indicates considerable reading comprehension
reading selection

The response uses Epeciic and relevary support from the reading s=fecion fo cleanfy explain whether
Gerry bedeves Hanna's suggesiions will help him.

Hezponzes conzidered fo be Sogible or off fopicinoomect must be shown fo the Scoring Supernvizor.
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EXEMPLARS

EQAQ OSSLT March 2014

Section IV Dialogue Question 6

Code 10

[ Does Gerry belicve that Hanna's suggestions. will belp him? Use specific details from the selection 1o
SUPPOIT YOWr ASWer.

» [ Ll . -
TEITY OENEYE s, Ang '1-" ctns will he h“‘-

Annotation:

The response provides examples of suggestions that Hanna gave (faking a walk will calm the
nerves__ visualizing the end of the day will picture yourself as a feeling of accomplishment) but
provides no evidence from the seleclion as to whether Gemy believes these suggestions will help
him.

EQAO OSSLT March 2014

Scoring Guide for Reading Open Response
Section IV Dialogue Question 6

Code 30

[ Does Gerry believe that Hanna's suggestions will belp b Use specific detals from the selection 1o
SUPpOrt your sywer.

Annotation:

The response siates that Gemry believes Hanna's suggesfions will help him and clearly explains how this is
evident using specific and relevant details from the seleciion (Gerry breaths & sigh of refief and asks for
more fips._ Geny is cooperalive with Hanna's suggestions, such as visualizing himsei af his job).
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Q7. What does this selecion show shout Gemy and Hanna's relsSonship? Use specdific detsils from fhe seleciion o

explsin your snswer.
Code Descriptor
Blank nothing written or drawm in the lined space provided
[i=gitéi=" | response is illegible

An illegible response cannot be read (eresed, orossad out, not in English, impossible to read).
A comment on the tssk (eg.. | don't know. ).

OFF topic

response is off-fopic, imelevant or incomect

A typical offopic response provides no informsiion from fhe reading seleciion fo indicaie reading
comprehension.

A typical immedevent response comments on the reeding seleciion
or simiply reststes the qguesfion

A typical poomrect response provides an answer
*  based on & misunderstanding of the guestion ANIVOR fhe idess in the resding selecion

Code 10

response indicates minimal reading comprehension
selection

The response identifies what the selecion shows about Gemy and Hanna's relsfionship and provides

»  minimsl support from the selecion fo egplsin the response
OR

» g reiling of events in the resding selechon.
OR

»  melevant support from the resding selecion
OR

The response comments on Gemy and Hanns's relstionship based on fhe student's own idess with no
infommation from the selechion.

Code 20

response indicates some reading comprehension

response provides vague ideas and information from the reading selection; it

The response identifies what the selecion shows sbout Gemy and Hanna's relsionship and provides
=  wegue support from the seleciion fo explsin the response
»  provides & vegue connecion between the detsils and whst they are infended fo support

The response often requires fhe reeder to mske the conneciion between what i= identified showt Gamy
and Hanna's relsionship and the supporfing detsil(s) from fhe selection.

response indicates considerable reading comprehension
reading selection

The response uses specific snd relevent support from the: resding selecion fo dearly ideniify snd
explein what the pesssge shows sbout Gemy and Henns's relstionship.

“Responses considered fo be illegible or off fopicincomect must be shown fo the Scoring Supenisor.
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EXEMPLARS

EQAO OSSLT March 2014
Scoring Guide for Reading Open Response

Section IV Dialogue Question 7

Code 10

B What does thas selection show sbout Gerry and Hanna'« relationship? Use specific details from the
selecton 1o explain your snswer.

Cect ) 1 Jein A \
by 4y € laok's aF dke <oy, Tiunk dleyace
—fathec and dauguics,

Annotation:

The response identifes what the selection shows about Gemmy and Hanna's relafionship (1 think thsy are
father and daughfer) and provides minimal support from the reading selection to explain the response
(Germy and Harna live in the same houss).

EQAO OSSLT March 2014
Scoring Guide for Reading Open Response

Section IV Dialogue Question 7

Code 30

Bl Wt does this sriection show about Gerry and Hanne's relationstep” Use spesific details from e
selection to expluin your anewer.

p L e ) b colobantiae i ook

m_:ﬁui!’_*ﬂhgd_‘ﬂlad__ﬁqqu}_m&cﬂncL
cmblont and o gxe cadebels mad. Ths s

&m_ﬂnn_‘éi_fucp_m.&ﬂn&a_dﬁ__
ﬁn&khnﬂmmﬂwamhptay_u@_
MMMJL

Annotation:

The response ideniifies what the seleciion shows about Gemy and Hanna's relationship (have a

good relationship with each other because their always there fo support eachoiher's ambitions)

and uses spedfic and relevant support to dearly explain the response (Hamna fells Geny “Youre
a faniasiic chei™ and wihen Hanna meniions how Gery helped her with advice._ ).
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section () Reading

Read the questions in Question Bookiet 2 before providing your answers here.

Canada’s
Forests

BOCOCOO
BOOOO
BOOOO
BOOOO
BOCOOO
BOCOOO
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